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Class: X Max. Marks: 25
Subject: MATHEMATICS Time: 1 hour

General Instructions:

(). This question paper contains 18 questions. All questions are compulsory.
(i1). This question paper is divided into three sections — Sections A, B, and C.
(iii). Section A comprises of 15 questions (Q. No. 1 to 15) of 1 mark each.
(iv). Section B comprises of 2 questions (Q. No. 16 and 17) of 3 marks each. Internal choice has
been provided in one question.
(v). Section C comprises of 1 question (Q. No. 18) of 4 marks. Internal choice has been provided
in it.

SECTION-A

Choose the correct answer in each of the following:

1. The LCM of two numbers is 1200. Which of the following cannot be their HCF?

(A) 600 (B) 500 (C) 400 (D) 200
2. The exponent of 5 in the prime factorisation of 3750 is
(A)3 (B)4 €5 (D) 6

3. Which of the following is not irrational?
AE-V3 ®E+VE ©0Z-IZ+E) O

4. If two positive integers a and b are written as a = x3y2z and b = xy3 where x, y, z are
prime numbers, then LCM (a, b) is

(A) xyz (B) xy* (C) x*y*z (D) x*y*z
5. If nis any natural number then 6™ — 5™ always end with the digit
(A)1 (B)3 €5 (D)7

6. A quadratic polynomial, the sum and the product of whose zeroes are 5 and 8 respectively is
(A) k [x* — 8x + 5] (B) k [x? + 8x + 5]
(C) k [x? — 5x + 8] (D) k [x% + 5x + 8]



Answer Q. No. 7 to 10 based on the given Case Study:

Few months ago, heavily storm comes out in Kolkata. Due to this storm thousands of trees
breaks and electric pole bent out (or break). Some of the electric poles bent into the shape of
parabola which is shown in the figure.

7. Suppose the quadratic polynomial for given curve is ax? + bx + c, then always a is
(A)>0 (B) <0 =0 (D)<0

8. Find the zeroes of the given curve.
(A) 2and —1 (B) —2and —1 (C)—2and1 (D) None of the above

9. The polynomial expression of given curve is
(A) x%2 —x + 2 (B) 2—x—x? (C)x%+x+2 (D) None of the above

10.1f x = 2, then find the value of polynomial.
(A) 4 (B)3 (C)2 (D) —4

Fill in the blanks with the most appropriate answer:

11.Number of zeroes, the polynomial of the given graph has

12.1f e and B are the zeroes of x% + 3x — 3, then the value of % + % IS

13.1f the zeroes of a quadratic polynomial x? — 5x + k are reciprocals of each other, then the
value of k is

14.19 x 20 x 23 X 29x 31 x 37 + 37x47isa (prime / composite) number.
15.Given that HCF (306, 657) = 9, then the LCM (306,657) is
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SECTION-B

Answer the following:

16.Find the zeroes of the quadratic polynomial 6x? — 3 — 7x and verify the relationship
between the zeroes and the coefficients.
(OR)
If the zeroes of the polynomial x? + px + g are double in value to the zeroes of
2x2 — 5x — 3, find the value of p and q.

17.Find the largest number which divides 1251, 9377 and 15628 leaving 1, 2 and 3 respectively
as remainders.
SECTION-C

18.Prove that +/7 is irrational.
(OR)
Prove that v2 + 5v/3 is irrational.
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General Instructions:
e Please check that this question paper contains 5 printed pages.
e Please check that this question paper contains 8 questions.
e Please check that this question paper contains 4 sections.
e Please write down the Serial Number of the question before attempting it.

Section: A — Reading Skills (Unseen Passage)

Q. 1- Read the following passage carefully and answer any FIVE of the following
guestions: (5M)

Al dad e aal g dliny AN 5 841 )8
(pdaa dewa calie Y JSh Ol sas Ll L) ghlie gy 8 Jadl) aa g
SB35 zladl e S Gl Al S LuiY) 4 34k ¢y sl 4 gha )3 5 ¢ Jull o jai s
sed colalls eIl (e paS laie ) zling s 4y ) il pall ST Jadlls il sha
el 25 L g delu b pdie Al ) diay 8 cilae (e Gl 8 D gla U 5 il
4a sk Jadll axdigy Aol G pdie 5wl JS A clela (e ST (65 Y B0
Grob e slall iy Jadll Gilae 13) 5 41Kk (o3 o13a)) pen Ly (g B (yal 2y
olabs (5ol dad ) 4 cady o dash A 8 eld) aahy ddall B 58y ek A
oala Jut 8 Ll oLl 138 Jaxionss

il s ol -1

¢l sl 1 -2

Sl Jal) sl 5 sl -3

TS Qb Jall da -4
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S e Gl b Jdl) palidelu S -5
feldl Jadll iy e -6

faasha a Jadll oty i pe Y -7

Section: B — Writing Skills
Q. 2- Fill any FIVE of the blanks with the suitable words from the given options: (5 M)
rhasaall i JLdd) (pe dpuliad) cilalSily ) b el (51 Sl

s (B)
JSLedl (C)
LA (D)

Qlas e (A)
Gilsts (B)
ok (C)

Ji I (A)
=dad) (B)

L= (C)
sl (D)

T, @Jigﬁ,}eg -4
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<l (A)
3y (B)
Sl (C)
Lkl (D)

Q. 3- Correct any FIVE of the following sentences: (5M)
A0 Jandl (e Jar (e s ana
Al O sagdy Clanalill -]
Al 3 gaalla g saleal) &) -2
Lida s dad s -3
A pdall Glase (8 el (A -4
Gl b elal aclis Ly ¢l -5
Ayl 8 M5k il &l -6
et IS A paall ) sy Sl -7

Section: C — Grammar and Translation

Q. 4- Define and illustrate “Sound Feminine Plural” with examples in subjective,
objective and genitive cases: 5 M)

13 ol g Laill g Amd ) Lgila 8 ALY "allad) uigall paadl” Gide
Page 3 of 5



Q. 5- Translate any THREE of the following sentences into English: (3M)
g s A5Y) Jaad) (e U
Al o2 2 a5 ra cwlall s -1
Ayl Canla & M) aa g3 -2
D) pian (8 Slary Gluaigall (18 -3
&JMM&@LSJ::J}M&M -5
Q. 6- Translate any TWO of the following sentences into Arabic: (2M)
rd ad) Aadl) 1) AU Jaad) (e Cpilan a

1- Indeed this pen is very costly.
2- There is a big auditorium in your school.
3- The girl is playing with the cat
4- O boys, don’t write on the tables.
Section D — Literature
Q. 7- Translate any ONE of the following passages into English: (10M)
LSRR HLU WA LY HIRNS 3 PR PPN
(<)

Lils gy Lo oy ol ] A0l (g 0y AT e pail) 3 S ali US 5 laall ) L
i A 3l all Lo el 305 5l el o sl Caady ol e 2 8
BYN{INSTECPT S I JORONI G DX R L P VO U (PR PORRC: JCF JA (T L R
osadll 81 sly ¥ (o Al fes iy Gpallall oy b daal) s HBGN JE ) julad e
JE s ) oda & 1,88 el | g o) aSile liadl QU5 5,0 all agd 5 Y s
8yl 28 Juay gl Gy 8 s JSU 05 aes ) asd) i o @lle raaal

_B%&agdﬁtﬂ\jme@ﬁi_m

(<)
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A gA) s 4l y we Cpe gl (o8 o) ) adlhe G sla dunigl LS 8 Gl ada
S S ) b Of adde S8 Al 33 gall il dala 35 Ao e (le saud) e
A0 can g jilie il o b g dal disiai jiull g ela Ledie saa gl Uil
e (sl (e (b (s GLE Y laal Fhalai ¥ o il sl ) ans o) )
a3y il ol Slae G e V) el Gy Vg laill andas (e V) aladall GG Y g ¢ aial
Allay) dlile (ya my gadd gl go Gudi N HUadl) (e g Ladie 5 43 G5 sa Jae (e
Ao Caadl g il dlas Jals A Ganadall OIS e SUlL aling o) @lled (@liKal

Sl Wl pn g 58 U yuas ) e

Q. 8- Translate and explain any THREE verses with reference to the context: (5M)
:&w\ﬁleﬁgiﬁﬁcﬂ\gﬁﬂ

EM\JBJM\Q@Js HAA@JMQ\A&JM
(J_L;J\ —an L&S;\; A C\J\ QM u JA“.’J\ A Ai
e JS g aynalyl gl (SOl Ul (e

plaall eJi Geolulilay  foale’ dga maall oy ol
('aw\ \ :'q ‘—A! 5 A::s‘)i} (ﬁ.m‘ ‘_A;\ ..I~ n : :.!\ \.CJ
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HRTET HRAT Rgamed, e

qd §9-2 9dem 2021-2022

HETT: X quIteh: 40
fawr: 2y (B) 085 AT ;26
ATAT fAder-

© W W U & Fel &I WS §-Ws-F I T |

o W3 -F H FoT 3MA LI ﬁcmﬁé&ﬁmwmﬁg@ﬁmﬁml
o @E-T@ # Fel 5 WA B ITeT 7T FAgeIT 1 uTereT YA §C Fe1h Iee< fAf@wl
o el WAl T HEAT 8 ¢

© Yed% TR FI LIS TS §U TUTHHT FATAR Seel (A TAT|

s-F
1. frrfaf@a & & el & weal & 3eav aersrer 25 A 30 ersat A ffFe- 2 x2=4
%) F oFA 7RG 7 I I & ? Tod §U A Y Jeiell (o AT Hr g & 2
@) ‘T T g fhar Fdar 3 TR 9T @ 319 Y F747 Yo et 2
M) E-AFAY F Fraer snefAat #Y vder R smar § sk F=i
2. fAafaf@a # & R vs et F1 3eav a9reer 60-70 eregl # difSre- 4 X1 =4

&) ATA-Fel & HIS AT FHATA Y 15 & 91T §| TST HTSHT ToTet FT TFT & et T AfT
$T A FIH FL1 AN ¢ | I 37 IEH Foten AT ¢ Frg g@ i aifer Y s g 8] =
aTer Fel & fT 3T 1 @Y @R

et Y A’ 91S & YR W TATST B 39T 7aré 715 ufa & wepsa wrar yonmg wgar g
AR IEFT AT FATR?
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3Yar

ffSreer Aerae #! Fo1aT &R F AT IeavEs WFR F AR Ve 3 F wgaer & Aqd Ber
TEAA Y TIH FAAW T FAT TAT} Y G Y HT 8] AARNY & HATAF I 9 HT
g Fererd el Tue g

U F A TET W2 FHTAAT F HUR W TAST F I Y& FT $Ta1 Hgoed F41 ¢ AR
g1 9TaH Fd A FAT-FI1 IR giet 82

3. I UISAYEAF W & IR W fArafaf@a & & el af weall & seaw dif9re- 3x2=6

%) AT 1 AT & @ AT 7 ¥ XA §] A 81t F A1 Y ITeH) MaeTHhedT U5 W
e H AT FA & [T IR 11T 8

ERET F1FT FEE F YR W Tqoe AT fF d@F o I8 F41 Fa1?
W) U6 # FivTd geaATait & R o 9 a3 Hr arRfe RLvansat o3 geer sifav|

) WA 3ATART A 9 Y1 AIAAT & T 41| 98 Sl g19ram| |reft 3t vt 10| g @ I
AT 9T 7 39 3 gof & 3 ASHT F WY o1 937 A Sl Arer a4t 71 o

T glat & a1 3Y At Tt eI F &Y IR Fer IAT AT| FROT IATST |
gs-@

4. farafafea # @ et v fawa ov wha g3t & 3mer o3 sersier 120 ereei 7 3regede
faf@e- 6X1=6

&%) HAT dIs ALITS
TFd [Aeg * TAATT FIeT HY STl FATAT * FHSH FROT * Yt & 3T

)TN FATE

T¥d g * St 7 ST 7 Ageea * STel FTFAT * STe¥ FHT FIETT
) AlETS o 79 G
T fag * rer Y S * wer-gifer * |rde 3T
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5. 37T 81 T TEI-FT TSH! W WG The FId §U TUTeeh i S9TaTaT 120 el H T
IGIECR 5X1=5
rgan
3=t IRETRF T & 37a9ra FIard §U Yeh-ARFd & T qeramary 1 dqamrer

120 ersgl & g7 faf@w|

6. %) 3T ALY IUTEHT & NP Adhedl 3] el FIATSE 7 Tgat aret AT Y STl VI&TOT 3]
T I G AT 50 e F T IR FIS] 2.5

3rgar
1Y e fasra afAfa,ateh & aRa & | s & 9t A a-TeE & 9fa den & g=q
T GT I 50 2ree} H FIAT FARX AT |
) fAgaTed # ve A e 93T A 8] 39S gay A Rgdmery & a1 W e & faw
TSI 50 AT F AT IR Ffarw] 2.5
rgar

feaTea & §3 919 & A @9 @ F 3mAiere & e a9rsrer 50 el # a1 AR
S|

7. F) U IR YT F FAT 973797 50 2real # faager R S| 25
3yt
7T YAt Gl HR ST AMEt &1 SHF T oTarsyar 50 reai # faamyer daw Hifarw|
W) AT B & faT 33797 50 2reai H v a9 IR fifar) 2.5
3t

AT FAsHaT & SaTsTar 50 real # T faATger AR Afrw|
8. farafaf@a fwal & & fnell v frwr ax sramsyar 120 eregl & org o faf@w) 5X1=5

%) 3reoT AT ) AgeAd I FATS
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INTERNATIONAL INDIAN SCHOOL JEDDAH
PRE-TERM-I1 EXAMINATION, 2021-2022
MALAYALAM
Class: X
Time :2Hrs
Marks:40

The question paper is divided into TWO sections:
Section A : Grammar& Writing: 22 Marks
Section B : : Literature (Prose, Poetry& Non-Detailed 18 Marks)

SECTION-A

1.2.0U9B: 3O 108 (G IV H6) B> (1X2=2)

(i) ENIaOYMOMo.
(ii) (alU1@Do.
b. @ oUICUIB Y0, @O0 1UIB: S0 af)iM U GAUBM 1R 1602PIMIH  (1X2=2)

(i)  alleMiNno 6)8)(MGLIIH: (lMIRLNRAIW MDD lEIDUBOTO) 1@3H6) 1SOM)
D0 186 BHQITI 6IMING LOIUDIMBRIIBE8B3UE BMNSY0 .

(i) @YW HMU210C1HE 121851810 OMILYIM) HIMI1S) MIoMoeo
630)NUOM@Yo @NIG NilS1el.
c. UIB IO (@3 D) DN 13 () 103 OTN) s (1X2=2)
()  @RUIMAICRINT alLIM0o AlLldhI0568RE)0 alNeM) Nlelaila).

(i) MIOS HENUBIEIMDO MUIEILINVDAQOD 10N MM ETHIMAUOM
R dHI2136DN) @R322EMOB (ol 12610 G)al@).
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d. a@e®s12jo 630 NlaH@OO® B3012] (6)
6MEQINOM @3 £ WIS OalMIdMIo MRQYINIHE)Hs.

()  HAMY -DEODOIO IMEO MIS
(i) QNBLOERLLINVOM T3 BLUdY MOWIDEERUBHMEBS (aI0UIM 0.

e. 2MZ 1NN (@) 1100 enIdW e A0 IM1CHHUIDD)
alINBUD 12606 ol (U@ 630 LD QIO L (5)

f. MRS MIgleas (1BLILIQO 16RI £S5 1803 M@ 1S3I0M

QOB U 3N 2] B@) V1B 0BS) MRYINIHE)s (5)
SECTION-B
2. @36 121)0 N3] G2lIBL6BRUBHE) ODMOO0 af) P> (3X2=6)

(a) al2eMWNIB EMS1V NIBWEBD "NILlaldSio EGMSIW N1BWo" af)() GRIEUBM3
NNeuaH 2@ MeN B8Dallmyo ag)mo) ?

(b) "@OM16XM,BONUEM,af)B2]0P)0 af) U 1OSWI0 B 1 1IMIE)BHIBEY B> af)(M
@RI MI6M , @URIMOIEMINeM 2fleemEln/ @0 MBI NIDIQ]
N2 @ M@0 .G 1 0HMIDIDIOS DD (aITRINIMBWISIBES (D) 1H06Mo
) PYON B> ?

() @MIHE MIBY (IO LI 1HNIODN BICEIIWMNE ANILIDIW]
ANl @ 1Me0 @oS10MaIMe ) ?

3. aBOMB1L1J0 PENE) CaldBI6BRUBHE DOMP@0 nf)PIM)HD (3X2=6)

() BOPWOSWIe MARINIMWIOSWIo MEMBUOBIENT BIEMIELINHOBN IO
@OBHNOM - UBDHDINHILIDD) 0V (A IMYINUM af)(MEOMISO (alMLHOMAINT 2132y
1@} ?
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(b) "a)6B3 1M OBHINSINBHHOAM) Mo 6NIYEU] -
6B @ 100) 10 180 UM
B6)MEM 6)dHINB)Gl0QISEMEDNMBE
ORI SIOMB (al@ o 2] GHINIRNM3 ?" @Y Uo@o NIlUOBAMIHE)E:?

(€) DRIWIBERUD0 BIEMADD MV 1@ 1HNMMND) f)EBBREMERN) 'GIMMQTTDY
)M ald0e O @YTVEAIHE) | N1U0E 1@ 18636 ?

4.. a@3O®Bs 12130 P6NE) CaldBL6BRUBHE) OO0 af)PID)H: (3X2=6)

(a) 2151 MUIoA 18330 AUTBAUBHIMNMBMNAIWIBS HS 1HILHQW BN 124)
ANCUE 1B ?

(b) B3EMMBi188H6) 215N ag)0N NGUaHEMO LI 12 @EBRHM ?

(c) BBl 188 10222213 HHG2)@ W16l @20 OBAIHHU L6618 HH006Mo
Q) ?
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INTERNATIONAL INDIAN SCHOOL , JEDDAH
PRE-TERM II EXAMINATION (2021 — 22)
MATHEMATICS STANDARD (041)

Time Allowed: 2 hours
Class: X Maximum Marks: 40

General Instructions:
1. The question paper consists of 14 questions divided into 3 sections A, B, C.
2. All questions are compulsory.

3. Section A comprises of 6 questions of 2 marks each. Internal choice has been provided in
two questions.

4. Section B comprises of 4questions of 3 marks each. Internal choice has been provided in
one question.

5. Section C comprises of 4 questions of 4 marks each. An internal choice has been provided
In one question. It contains two case study based questions.

SECTION-A
Q. No. Question Marks
1. | Find the 6™ term from the end of the A.P. 17, 14, 11....... (- 40). 2
OR
Determine k so that k + 2,4k — 6 and 3k — 2 are three consecutive terms
of an AP,
2. | For what value of k, the roots of the given quadratic equation 2

(k—12)x?+ 2(k — 12)x + 2 = 0 are equal?

3. | Inthe figure, AABC is circumscribing a circle. Find the length of BC. 2

4. | The sum of the radius of base and height of a solid right circular cylinder
is 37 cm. If the total surface area of the solid cylinder is 1628 sqg. cm, find
the volume of the cylinder. (Use n = 22/7)
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5. | Calculate the mean of the following distribution:
Class interval [50-60 |60—-70 |70-80 |80-90 |90-100
Frequency 8 6 12 11 13
6. | The difference of two natural numbers is 5 and the difference of their
reciprocals is 1—54. Find the numbers.
OR
Solve for x: 4x? — 4a’x + (a* — b*) =0
SECTION-B
7. | A life insurance agent found the following data for distribution of ages of
100 policy holders. Calculate the median age. If policies are given only to
persons having age 15 years onwards but less than 60 years.
Age (in years) No of policy holders
15-20 2
20-25 4
25-30 18
30-35 21
35-40 33
40-45 11
45-50 3
50-55 6
55-60 2
8. | Construct a pair of tangents to a circle of radius 4 cm, which are inclined
to each other at an angle of 45°,
9. | Find the value of ‘f” from the following data, if its mode is 67:
Class 4050 | 50-60 | 60-70 | 70-80 80— 90
Frequency 5 f 15 12 7
10. | From a point P on the ground the angle of elevation of the top of a

10 m tall building is 30°. A flag is hoisted at the top of the building and
the angle of elevation of the top of the flagstaff from P is 45°. Find the
height of the flagstaff and the distance of the building from the point P.
(/3 = 1.73)
OR

The shadow of a tower standing on a level ground is found to be 40 m
longer when the Sun’s altitude is 30° than when it was 60°. Find the
height of the tower.

Page 2




SECTION-C

11.

A solid wooden toy is in the form of a hemisphere surmounted by a cone
of same radius. The radius of hemisphere is 3.5 cm and the volume of the

toy is 166% cm®. Find the height of the toy. Also, find the cost of painting

the hemispherical part of the toy at the rate of 10 per cm?. [use T = %]

12.

In the figure, from an external point P, two tangents
PT and PS are drawn to a circle with centre O and
radius r. If OP = 2r, show that 2OTS = 20OST = 30°.

OR

Prove that, the lengths of tangents drawn from an external point to a circle
are equal.

CASE STUDY -1

13.

The production of TV sets increases
uniformly by a fixed number every year. :
It produced 16000 sets in 6" year and :/ ;'L "
22600 in 9" year.

(i)  Find the production during first year.
(i)  Inwhich year the production is 29,2007

N

CASE STUDY -2

14.

In a village, group of people complained for an
electric fault in their area. On their complaint, an
electrician reached village to repair that fault on a
pole of height 5 m. She needs to reach at a point
1.3 m below the top of the pole to undertake the
repair work (see the adjoining figure). She used a
ladder, inclined at an angle of 8 (60°) to the
horizontal, to reach the required position.

(i)  Find the length of the ladder.
(i)  Find the distance of the foot of the ladder from the base of pole.

N

k*kkkkkkkkkikkkkikkk
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CLASS: X
Subject: Mathematics Basic (241)

INTERNATIONAL INDIAN SCHOOL , JEDDAH
PRE-TERM — 11 EXAMINATION, MARCH 2021-22

Maximum Marks: 40
Time allowed: 2 hours
Total no. of pages: 04

General Instructions:

1. The question paper consists of 14 questions divided into 3 sections A, B, C.

2. Section A comprises of 6 questions of 2 marks each. Internal choice has
been provided in two questions.

3. Section B comprises of 4 questions of 3 marks each. Internal choice has
been provided in one question.

4. Section C comprises of 4 questions of 4 marks each. An internal choice
has been provided in one question. It contains two case study based
guestions.

Section - A
1. Find the roots of the quadratic equation 6x* — 13x — 15 = 0.
(OR)
Find the value of ‘p’ for which the quadratic equation
(p-4) x>+ (p-4)x—4=0, has real and equal roots.

2. Two cubes each volume 125 cm® are joined end to end to form a cuboid.
Find the total surface area of the cuboid so formed.

3. Find the mean of the data given below.

C.l 0-20 20-40 40-60 60—-380 80—-100
Frequency 4 6 5 3 2
4. Find the 11" term from the last term of the A.P: 10,7, 4, . . ., (- 62).
5. The mode of the following frequency distribution is 38. Find the value of ‘x’.
C.l. 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70
Frequency 7 9 12 16 X 6 11
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6. Two concentric circles are of radii 5 cm and 3 cm. Find the length of the
chord of the larger circle which touches the smaller circle.
(OR)

In the given figure, PL and ML are tangents, and ~MOP = 165°. Find ZOLM.

Section — B

7. If the sum of the first 14 terms of an AP is 1050 and its first term is 10. Find
the 20" term.

8. A statue, 1.6 m tall, stands on the top of a pedestal. From a point on the
ground, the angle of elevation of the top of the statue is 60° and from the
same point the angle of elevation of the top of the pedestal is 45°. Find the
height of the pedestal.

(OR)
From the top of a 7 m high building, the angle of elevation of the top of a
cable tower is 60° and the angle of depression of its foot is 45° Determine
the height of the tower.

9. Prove that the lengths of tangents drawn from an external point to a circle
are equal.

10. Sum of the areas of two squares is 468 m?. If the difference of their
perimeters is 24 m. Find the sides of the two squares.

Section —C
11. Construct two concentric circles of radii 3 cm and 6 cm. Draw two tangents
to the smaller circle from a point P which lies on the bigger circle.
(OR)
Draw a pair of tangents to a circle of radius 6 cm which are inclined to each
other at an angle of 60°. Also find the length of the tangent.
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12. If the median of the distribution given below is 28.5, find the value of

xandy.
Class Interval | Frequency

0-10 5
10-20 X
20-30 20
30-40 15
40-50

50-60 5
Total 60

13. Case Study —1
The line of sight is the line drawn from the eye of an observer to the point
in the object viewed by the observer.
The angle of elevation of the point viewed is the angle formed by the line
of sight with the horizontal when the point being viewed is above the
horizontal level, i.e., the case when we raise our head to look at the object.

Angle of elevation

Horizontal level B

a. Refer the given figure. If you want to find the height of the tower without
measuring it, what information do you need? Justify your answer.

b. If the angle of elevation changes to 60° and the horizontal distance from
the foot of the tower is 60 m, then find the height of the tower.
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14.Case Study — 2

Ice Cream Tanjore Doll

In our day-to-day life, we come across a number of solids made up of
combinations of two or more of the basic solids as shown above.

An ice cream is a combination of a cone and a hemi-sphere, the capsule is a
combination of cylinder with hemispherical ends. A tent is a combination of
a cylinder and a cone.

The center height (total height) of the tent is 15 m and the base diameter is
24 m. The height of the cylindrical base is 10 m.

a. Find the area of tarpaulin cloth required to make this tent. (use t = 3.14)
b. Calculate the cost of cloth at X 50 per square meter.

4|Page



INTERNATIONAL INDIAN SCHOOL JEDDAH
PRE-TERM-11 EXAMINATION 2021-2022
SCIENCE (086)

Class: X Max. Marks: 40
Time: 2hours
Total no. of pages: 5

General Instructions:
) All questions are compulsory.

i)  The question paper has three sections and 15 questions. All questions are
compulsory.

1)  Section — A has 7 questions of 2 marks each; Section — B has 6 questions of 3
marks each; Section — C has 2 case-based questions of 4 marks each.

iv)  Internal choices have been provided in some questions. A student has to attempt
only one of the alternatives in such questions.

SECTION - A

1. a. Which of the following compounds have similar chemical 2
properties?

CH,CI, CH;0H, HCHO, CH;COOH, C3H;OH

b. The molecular formula of the consecutive members of a
homologous series are CsHy, and CgHys. Write the molecular
formula of members having 3 and 4 carbon atoms of this
homologous series.

2. a. State Mendeleev’s periodic law. 2
b. Three elements X, Y and Z have atomic numbers 11, 3 and 19
respectively. Arrange these elements in the increasing order of
their reactivity.

3. a. In male reproductive system in humans, name the common 2
passage for urine and sperms.
b. Name the tissue that helps in nourishment of human embryo.

4, In India there is decline in female sex ratio. Mention the reason for 2
this decline and state how to prevent further decline.

5. An experiment conducted by students of grade 10™ on pea plant to 2
study the laws of inheritance, they crossed a pure plant bearing violet
flowers with a pure plant bearing white flowers.

a. Which character is seen in F1 generation and why?
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b. What percentage of plants with violet flowers and what
percentage of plants with white flowers are obtained in F2
generation?

OR

Women in Indian society is blamed for giving birth to a female child
which is totally incorrect. Justify your answer by drawing a schematic
sketch.

There are two long wires A and B. A carries current in the vertically
upward direction and B carries current in the vertically downward

direction as shown in the figure. < =
/| | |/

X

A B
Draw the magnetic field lines around the conductors A and B and
mark the directions of magnetic field at the points, X and Y, shown in
the figure.

OR

a. A copper coil is connected to a galvanometer. Will there be any
deflection in the galvanometer if the bar magnet is pushed
towards the coil? Explain your observations.

b. Name the phenomenon involved.

a. Farmers use fertilizers, insecticides, pesticides etc. for good yield.
But it remains in the plant body and gets accumulated at each
level of a food chain. Mention the term used for this
accumulation of chemical substances.

b. i. Grass >Goat>Lion

ii. Grass>Goat 2>Wolf >Lion
Lion in which food chain has more accumulation of harmful
chemicals. Why?

OR

Calculate the amount of energy available to tiger in the following

food chain if 20,000 J of solar energy falls on the plants.
Plants> Cow-> Tiger
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10.

11.

SECTION-B

. Two elements P and Q belong to second period of the modern

periodic table and are in groups 16 and 17 respectively.

I. Which of the two elements have bigger atomic size?
1i. Which one is less electronegative?

b. Write any one limitation of Newlands’ law of octaves.
. An element Y belongs to 13" group of the modern periodic table.

What will be the chemical formula of its oxide and chloride?

. “Methane (CHy,) is not a good conductor of electricity”. Give

reason to justify this statement.

. Draw the electron dot structures of the following compounds:

i. Butanoic acid (4™ member of carboxylic acid family)
ii. Ethanol (2" member of alcohol family)
OR

. Write the molecular formula of benzene and state the number of

double bonds in its structure.

. Draw the electron dot structures for the structural isomers of

butane.

. Explain the process of regeneration with the help of diagram and

by giving an example.

. DNA copying is an important step during reproduction. Discuss.

. Which of the following material would you prefer to make coil

of electric oven? Why?
Copper, Silver or Nichrome

. In a series electrical circuit comprising a resistor made up of a

metallic wire, the ammeter reads 5A. What will be the ammeter
reading when another wire made of same material whose length
is doubled is connected to the same circuit? Why?

. Two resistors when connected in parallel are found to have the

same amount of current passing through them. What will be the
ratio of their resistances?
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12.

13.

14,

In the given circuit diagram, calculate:

3.60Q 6Q 30

HH -

45V
a. The effective resistance
b. Total current flowing in the circuit
c. Potential difference across the 3.6 resistor

OR

Draw a diagram of an electric circuit comprising of a resistor of
resistance 4Q2 and a heater coil of resistance ‘R’Q connected in
series to a 12V battery and an ammeter whose reading is 1.2A,
and a voltmeter across the 42 resistor and a key.
Calculate:
a. The resistance ‘R’ of the heater coil
b. Potential difference across the 4Q resistor.

a. “Energy flow in food chain is always unidirectional.” Justify
this statement.

b. In which of the following food chains will the Tiger get
more energy and why?
I. Plant - Deer - Tiger
ii. Plant - Deer - Wolf 2> Tiger

c. Depletion of ozone layer is a great cause of concern. Name
the chemical substance mainly responsible for this
depletion.

SECTION-C

This section has 02 case-based questions (14 and 15).
Each case is followed by 03 sub-questions (a, b and c).
Parts a & b are compulsory. However, an internal choice has been
provided in part c.
Amal selected pea plant to carry out her experiments. She crossed a
pea plant with round seeds having green cotyledon (RRyy) with
wrinkle seeds having yellow cotyledon (rrYY) and obtained F1 and
F2 generation:
a. What is the genetic composition of plants in F1 generation?
b. Name the type of cross.
c. Mention the different combinations of plants obtained in F2
generation with ratio.
OR
c. If F1 plants are self-pollinated and 800 plants are obtained in
F2 generation, how many will be Round and Yellow and how
many will be Wrinkle and Green.
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15. Few children performed the following experiment under the supervision of
their teacher to study about the magnetic field produced by a solenoid
carrying current.

A solenoid is connected in series with a battery and a key. Based on your
understanding of the phenomenon, answer the following questions:
a. What is a solenoid?
b. How will the strength of the magnetic field produced by the
solenoid carrying current vary with:
I. Increase in the amount of current

Ii. Decrease in the number of turns of the coil.

c. The magnetic field lines around a current carrying solenoid is
similar to that of a bar magnet. Give two reasons to justify this
statement.

OR

c. What happens when a soft iron core is placed at the centre of the
solenoid carrying current? Explain in detail.

*khkkkhkhkkhkkhkhhhkhkhkhiiikhikk
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INTERNATIONAL INDIAN SCHOOL, JEDDAH
IX-XIl BLOCK
PRE TERM-11 EXAMINATION, MARCH 2021-2022
SUBJECT: URDU COURSE-B (CODE-303)
Class: X Max.Marks: 40
No of pages: 5 Time:2 Hrs

General Instructions:

1. This paper consists of 3 sections with 22 questions and 5 pages in all.

2. Section A consists of seen and unseen passage and poems.(10 marks)

3. Section B consists of grammar and literature having 10 questions of which
students have to attempt any 6. (18 marks)

4. Section C contains literature having 10 questions of which 6 must be
attempted by the students.
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INTERNATIONAL INDIAN SCHOOL JEDDAH
PRE-TERM Il EXAMINATION, 2021-2022
ENGLISH - Language and Literature (184)

CLASS-X

Time allowed: 2 Hrs. Maximum Marks: 40

General Instructions:
1. The Question Paper contains THREE sections-

READING, WRITING & GRAMMAR and LITERATURE.
2. Attempt questions based on specific instructions for each part.

Q. SECTION A- READING (10 marks) Marks
No.
1 Read the passage given below.

1. Why does a person become overconfident? The reason lies in over
assessment of his capabilities. Sometimes people over assess their
competence and jump into situations that are beyond their control. Napoleon
Bonaparte who became Emperor of France would say that the word
‘impossible’ was common only amongst fools. The overconfident Napoleon
invaded Russia in the winter of 1812. This proved to be a big disaster.

2. Overconfidence generally leads people into misadventures, endangering
their chances in life. It is wisely said that any achievement is a result of two
factors— one’s personal planning and support from the external world.
People take into account only their planning, generally ignoring external
factors. They become unable to foresee future developments. Hence, the great
risk of failure. Then there is the question: how can one manage
overconfidence? The formula is very simple. Before taking a decision discuss
the matter with other informed people with an objective mind and when it is
proved that you are about to go off the path, accept reality and say without
delay, “I was wrong.”

3. Overconfidence is a flaw characterizing people who lack the virtue of
modesty. Modesty makes you a realist; you become a person who is cut down
to size. People of this kind become very cautious; before taking an action,
they assess the whole situation. They adopt a realistic approach.
Overconfident people live within their own thoughts. They know themselves

Page 1 of 6




but they are unaware of others. Living inside their own cell they are unable to
make use of the experience of others. This kind of habit is highly damaging
to all concerned.

4. There is a saying that the young man sees the rule and the old man sees the
exception. With a slight change, | would like to say that the overconfident
person sees the rule and the confident person sees the exception.
Overconfident people are always at risk. It is said that taking risk is good but
it must be well calculated otherwise it becomes very dangerous.

Based on your understanding of the passage, answer ANY_ FIVE
questions from the six given below.

(i) When does a person become overconfident?

(if) What proved disastrous for Napoleon Bonaparte?

(iit) What are the two factors that bring achievement in life?
(iv) Which habit is highly damaging?

(v) Why are overconfident people always at risk?

(vi) When are the people at a great risk of failure?

Read the passage given below.

Technological evolution is a certainty. Cyber-physical systems, Big Data and
the Internet of Things (loT) have been changing the infrastructure of our
world. In the 2020s, these phenomena, which are still in their nascency, will
rapidly accelerate due to the increasing digitisation of key areas such as
health, science, transport, communications and energy.

The ubiquity of technology, and its increased ability to connect and
communicate, has paved the way for this tipping point. Beneath the surface,
we are moving towards an explosion of change.

Over 50% of our global population is now online, and the other half is
following fast. To be precise, around 726 million people joined the web in the
last three years.

These new users will change the shape of the internet. Many of them will be
lower income. They are choosing smartphones over laptops and tablets and
are more likely to use voice commands.
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Total % ‘smart homes’ in the US

Almost one-third of US homes are ‘smart homes’, this is set to grow to
more than half of all homes by 2024

Geodata and the loT will create new markets and supply chains. The
automation of manufacturing, services and mobility has

already begun. Artificial Intelligence (Al) will reach what Gartner terms the
‘Plateau of Productivity’, in which the technology becomes both mainstream
and viable. McKinsey estimates that 70% of companies may adopt at least
one Al technology by 2030. It is unlikely they will all use it well, but those
that do could manage to take us to a place where man and machine are

indistinguishable.

Bioscience has the potential to be transformative in the 2020s. Gene editing
(CRISPR) technology will likely soon be able to edit genomes to allow
animal organs to be accepted into human bodies — transforming, and perhaps
saving, the lives of people currently waiting for organ transplants. Similar
technology can also be used to combat inherited diseases and even cancer.
Elsewhere, gene therapy experiments are using the body’s immune system to

fight cancer through re-engineering our cells.
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Technology has inarguably improved science, health, communications, and
transport. However, technology has not

necessarily corresponded to increased economic productivity. Indeed, many
of the most technologically advanced countries have seen productivity
stagnate and stall, as discussed in growing inequality and opportunity. In the
2020s many questions around technology will be resolved. The scaffolding is
in place. This will be the decade in which Al, Geodata, the 10T, bioscience,
and quantum computing are given the opportunity to change our world.
Whether this change will be surface-level or truly transformative remains to

be seen.

On the basis of your understanding of the passage, answer ANY FIVE
questions from the six given below.
(i)  Inwhich areas is digitisation increasing?
(i)  How can we say that we are moving towards an explosion of
change?
(ili)  What technology will be used to combat inherited diseases in
humans?
(iv) What is the purpose behind editing genomes?

(v)  How do gene therapy experiments fight cancer?
(vi) In the line “The ubiquity of technology, and its...”, what does the
word ‘ubiquity’ refer to?

SECTION B - WRITING AND GRAMMAR (10 marks)

Attempt ANY ONE from i and ii.

The pie chart given below shows the proportion of people from different
households living in poverty in the UK in 2002. Write an analytical
paragraph to describe the information in 100-120 words.
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Proportion of people from each household type living

14% 1% _
5% [} Single aged persons 7%

[ Aged couple 5%

150 [ ] Single without children 24%
(1]

|
24% [] Couple without children 9%

[] Sole Parents  26%
[] Couple with children 15%

26% 9% [ ] All households 14%

You are A. Rizvi, Head of the Chemistry department of Osmania Sr.
Secondary School, Saharanpur. You require various lab apparatus and
chemicals for your laboratory. Write a letter to M/s Om Scientific Supplies,
Saharanpur placing a bulk order for the purchase of various items. Mention
all the necessary details of the items as well as the discounts available on the
purchase.

The following paragraph has not been edited. There is one error in each line.

Identify the error and write its correction against the correct blank number.

Remember to underline the correction. The first one has been done for you.
Error Correction

| meets her by chance then | E.g. meets  met

went to getting some Medicine @ e
which Sister Amy use to give. (b) oo
It is amazing to meet Mother. (o) I

| started loving just her presence.

1x3

e

Read the conversation between a mother and daughter and complete the
passage that follows.

Mother: Why are you looking so worried?
Daughter: My exams are approaching.
Mother: When will they start?

Daughter: Next month, Mother.

1x2
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Mother asked her daughter (a) The daughter 1
replied that her exams were approaching. Mother further asked (b)
The daughter told her 1
mother that they would start in the following month.
SECTION C- LITERATURE (20 marks) 2x6
6. | Answer ANY SIX questions in 30-40 words each.
i. | What were the sights that moved and shocked Gautama? 2
ii. | How has tea become a popular beverage? 2
iii. | Why do both the families of Lomovs and Chubukovs claim the ownership of |2
Oxen Meadows?
iv. | Why do humans keep awake in the dark and weep for their sins while animals | 2
never do such things?
v. | Bholi was a neglected child. Explain. 2
vi. | What can you depict of Amanda’s nature in the poem ‘Amanda’? 2
vii. | What dampened Valli’s enthusiasm during the return journey? 2
7. | Answer ANY TWO of the following in about 120 words each. 4x2
i. | Describe how Natalya reacts before and after knowing the real purpose of 4
Lomov’s visit. Does she act sensibly in this regard?
Ii. | Why was the narrator sent to New Mullion? Why didn’t he succeed in his 4
mission on his first visit?
iii. | How did Matilda and her husband struggle and suffer to pay off all their 4

debts? What struggles, sufferings and sacrifices they had to make to become
debt-free? What unfortunate changes came with the passage of time in their

lives? Comment.
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Time Allowed: 2 hours

International Indian School, Jeddah

Class- X, Pre-Board Examination, Session: 2021-22

Mathematics- Standard (041)
TERM II

General Instructions:

1. The question paper consists of 14 questions divided into 3 sections A, B, C.

2. All questions are compulsory.
3. Section A comprises of 6 questions of 2 marks each. Internal choice has been provided in two questions.

4. Section B comprises of 4questions of 3 marks each. Internal choice has been provided in one question.

5. Section C comprises of 4 questions of 4 marks each. An internal choice has been provided in one question. It
contains two case study based questions.

Maximum Marks: 40

Section A
Q.No Marks

1 | Three solid spheres of radii 3 cm, 4 cm and 5 cm respectively are melted 2
to from a single solid sphere. Find the radius of the resulting sphere?

2 | Find the length of tangent drawn to a circle with radius 8 cm from a 2
point 17 cm away from the centre of the circle.

3 | The sum of three numbers in AP is 3 and their product is -35. Find the 2
numbers.

OR

If the 10t term of an AP is 52 and the 17t term is 20 more than the 13t 2
term, find first term and common difference of the AP.

4 | Determine the value(s) of ‘K’ for which the equation x2+2(K+2)x+9K=0 2
has equal roots.

5 | Find the mode of the ages of 181 workers of a factory from the following 2
frequency distribution:

Age (in years) 20-30 30-40 40-50 50-60 60-70
Number of workers 25 47 62 37 10
6 | Solve the quadratic equation: 3x2 + 2v/5x-5 = 0. 2
OR

The sum of the ages of a man and his son is 45 years. Five years ago, the 2

product of their ages was four times the man’s age at that time. Find
their present ages.




Section B

Q.No

Marks

Draw two concentric circles of radii 3.5cm and 6.5cm. Construct a
tangent to the smaller circle from a point on the larger circle. Measure
the length of this tangent.

Find the missing frequency ‘€’ from the following frequency distribution
where the mean is 24 :

Class 0-10 10-20 20-30 30-40 40-50

Frequency 15 20 35 f 10

The angle of elevation of the top of a hill at the foot of a tower is 60° and
the angle of elevation of the top of the tower from the foot of the hill is
30c. If the tower is 50 m high, find the height of the hill.

OR
From a point on a bridge across a river, the angles of depression of the
banks on opposite sides of the river are 30° and 45° respectively. If the
bridge is at a height of 2.5 m from the banks, find the width of the river.

(Take V3 = 1.732)

10

Calculate the median daily food expenditure of 30 households from
following data:

Expenditure 100-150 | 150-200 | 200-250 | 250-300 | 300-350 | Total

(inRs)

Number of 6 7 12 3 2 30
households

Section C

11

Find the value of ZAOB from the given figure.

X
- E A >y

Prove that the parallelogram circumscribing a circle is a rhombus.

12

From a solid cylinder whose height is 8 cm and radius 6 cm, a conical
cavity of height 8 cm and radius 6 cm, is hollowed out. Find the total
surface area of the remaining solid. (Use = 3.14)




13

Case Study - 1

Trigonometry in the form of triangulation
forms the basis of navigation, whether it is
by land, sea or air. GPS a radio navigation
system helps to locate our position on
earth with the help of satellites.

It is observed from the top of a 75 m tall
lighthouse, the angles of depression of two
ships are 30° and 45°. One ship is exactly
behind the other on the same side of the
lighthouse.

(i) Make a labeled figure on the basis of the given information and
calculate the distance of each ship from the lighthouse.

(ii) Find the distance between the two ships. (Take V3 = 1.732)

14

Case Study - 2

Your friend Mr. Sprinter wants to
participate in a 200m race. He can
currently run that distance in 51 seconds
and with each day of practice it takes
him 2 seconds less. He wants to do in 31
seconds.

(i) What is the minimum number of days he needs to practice till his goal
is achieved?

(ii) Find the total time spent by him on running up to the day his goal is
achieved.
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